This question paper contains 5 printed pages]

CN—130—2017

FACULTY OF COMMERCE
B.Com. (First Year) (First Semester) EXAMINATION

MARCH/APRIL, 2017

(CBCS Pattern)

COMPUTER FOR BUSINESS AND TALLY

Paper 1
(MCQ+Theory)
(Friday, 31-3-2017) Time : 10.00 a.m. to 12.00 noon
Time—Two Hours Maximum Marks—40
N.B. .— (@) Solve Question No. 1 on OMR-sheet during first half an hour.

(i) Question Nos. 1 and 2 are compulsory.

(ii1)  All questions carry equal marks.

(tv) Simple Numerical calculator is allowed.

() WA H. 1 8 OMR-sheet IR Hrsaredr= 378 AHES! Ufeer 181 a9 TR,

Gi) U % 1 9 2 T e 3TRd.

(i) @& YA §AE O STRA.

(iv) T RIS FTROA TEA SR,
MCQ
1. Solve the following MCQ on OMR sheet :
Teiid Sguarl U9 S.TH.3TR. Iffear diean
@) One byte is equal to :
(A) 2 bits (B)
(C) 8 bits (D)

10

4 bits
10 bits
P.T.O.
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(i1)

(u1)

@)

‘Qa; Engz W .................... 341%:
(A) 2 fazm
(C) 8 fazH

Main memory of computer is :
(A) External
(C) Both (A) and (B)

GUTRTE & T oY
(A) T

(©) (A eufor (B) &

What is computer ?

(A)  Electronic machine

(C) Power machine

WU RS 7
(A) Tl A
(C)  dleR HIMH

The two types of output devices are :

(A)  Floppy Disk and CD
(B)  Monitor and Printer
(C)  Keyboard and Mouse
(D)  None of the above

TF YHRA IMSeye femmag

(A)  vArd fewm g 4@tEl.

(B) WM 9 Y
(C) fwee 9 Ad
(D) ST el

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)
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4 foeq
10 fore™

Aucxiliary

Internal

=
i

Electric machine

Mechanic machine

EECC RN
Hehdier ARMA
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The number system with a base of 8, using only the digits 0, 1, 2, 3,

(A)  Octal (B)  Decimal
(C) Binary (D)  Hexadecimal

8 B TN STHU TEAT Ugdl 9 ek 0, 1, 2, 3, 4, 5, 6, 7 €1 9T MR-

(A)  3TH: (B) <®MH
(C) sIHH (D) SIEEHEA
The base of decimal number system is ..............
A 4 (B) 10

C) 8 D) 16
M WA UG g 7l TR

A 4 (B) 10

(C) 8 D) 16

Which software contains the columns and raws mainly ?
(A)  MS-Word

(B) ~ MS-Outlook

(C)  MS-Excel

(D)~ MS-PowerPoint

WY ST 3fiedl WA hIvdl Wi Hed 3Tad .

(&) TATE-EE

(B)  TA.TH.-3&HIgH

(C) TH.UH.-THA

(D)  TH.TH.-GleRdige
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(vizt) Windows is a/an :

(A) Application software (B) Hardware
(C) Search engine (D)  Operating system
o= e
(A)  fwhI™ HFTR (B) BRI
(C) wTH T (D) A e
(ix) Internet is a .............
(A) Global Network (B) Local Network
(C) Campus Network (D)  Metropolitan Network
gzﬁz .................. 341%-.
(A) TS e (B) ~dihel Ao
(C) ™Y wZash (D) WAZdredie Heae
() Full form of WW.W. is ..............
(A) World Working Web (B)  World Wide Web
(C) Window World Wide (D) -~ None of these
T T %Y. ° U ¥4 AR :
(A) T THIT 9 (B) deE WES AW
C) foer o s (D) ATt TE
Theory
Explain the role of computer in business. 10
TR e iR fove
Discuss on computer memory. 10

TIORRET HT AER T
Or
(fenam)

Convert the following decimal numbers into binary numbers :
@) (52)19

(i1) (245)1

(i)  (555)1

@) (9710
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@ (B2,

@) (245)5,
@) (555)10
@) (9D

Write short notes on (any fwo) :

@) MS-Word
@) Internet
(Gii) E-Commerce

(tv)  Computer language.

e feur foaer (Fomg =)

() — HTE-EE

(i) 3R

Gii)  3-HEd

(iv) IR Ao
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